Solving Equations Game

Earn points by solving the equations. Harder equations are worth more points.

Solve as many as you can in the time given.

1 Point Each 3 Points Each e) 3(n+5)+n=23
f) Zy=6
a) x+5=11 a) 2(x+3)=12 « 3
b) q-5=2 b) 3(e+2)=21 9 =5
c) 5a=20 C) 6(c—2)=24 h) 2d 4
d) X=5 d) 8(q—3)=40 5
3 e) 3(2w+1)=15 ) A1
€) 2p+1=9 f) 4(2q-1)=28 43
g) tp=4 9 L= D =20
h) 16_, 4 Points Each k) 23h-4)=3(h+1)-5
y ) 5(x+2)+2(2x-1)=7(x—-4)
_ a) 3(p+2)=18
2 Points Each b) 2(x-5)=7 m) 3(x—4)=5(2x—-3)—2(3x-5)
~ c) 2(6-d)=10
gg g;i;; d) 5=2(1+3t) n) $x=4
¢) 7h+4=25 e) 50=12-¢ o) 2212
d) 5x=-10 f) 39-8=g 2(421x—3)5
e) 4t=2 g) 7k+3=3k+7 p) =—6
f) 2y+7=17 h) 3x=20-x h+15
h) 6a=6 . d
) 32-2t=22 5 Points Each r) f-d_5
4 2
. X
) 1+==3 a) 3+4t=12+t 2x-1_
6 b) 3+5a=a+5 ) T
k) 5y+6=21 ~
) ty+ ) 2b+7=11-3b g XL x=1
) S+15=21 d) 3y+1=9-y 2 3
Te_ e) 12s=2s+5 x+2_ x+1_,
m) ;t=21 f) x—3=1x+2 W 5
n) 2=17-5n X X
V) ——==2
6 Points Each 2 3

a) 3(2z-5)=z+15

b) m+2(m+1)=14

C) 2(3-2x)=2(6—x)
d) 2(y+4)+3(2y-5)=5



Solving Equations Game

Earn points by solving the equations. Harder equations are worth more points.

Solve as many as you can in the time given.

1 Point Each

6 x+5=11
7 q-5=2
4 5a=20

15 X_5
3

4 2p+1=9

10 5d —-8=42

8 ip=4

g 16
y

=2

2 Points Each

2 3z2+1=7
4 8y-5=27
3 7Tb+4=25
-2 5x=-10
0.5 4t=2
52y+7=17
7.5 2x=15
1 6a=6
532-2t=22

12 1+5:3
6
35y+6=21
18 E+15:21
3

7 it=21
3 2=17-5n

3 Points Each

3 2(x+3)=12
53(+2)=21
6 6(c—2)=24
8 8(q—-3)=40
2 3(2w+1) =15
4 4(2q-1)=28
5 25=5(3y-10)

4 Points Each

4 3(p+2)=18
8.5 2(x-5)=7
1 2(6-d)=10
0.5 5=2(1+3t)
2 5q=12—-q
439-8=g¢

1 7k+3=3k+7
5 3x=20-x

3 2t=15-3t

5 Points Each

3 3+4t=12+t

0.5 3+5a=a+5
0.8 2b+7=11-3b

23y+1=9-y
0.5 12s=2s+5

10 x=3=4x+2

6 Points Each

6 3(2z-5)=z+15
4 m+2(m+1) =14
-3 2(3-2x)=2(6-x)
1.5 2(y+4)+3(2y-5)=5
2 3(n+5)+n=23
83y=6

X 3

45 2==2
3 2

02
5

4o & _1
4 3

24 92 _ o
6

4

2 2(3h-4)=3(h+1)-5
18 52+ 20x-1=7(x-4)

-7 3(x—4) =5(2x—3) - 2(3x—5)




Solving Equations Game

Earn points by solving the equations. Harder equations are worth more points.

Solve as many as you can in the time given.

1 Point Each

3 Points Each

a) 6 a) 3
b) 5
b) 7 ) 6
c) 4 d) 8
e) 2
d) 15 f 4
e) 4 g) 5
f) 10 4 Points Each
g) 8 4
a
h) 8 b) 8.5
c) 1
2 Points Each d) 2
e) 2
a) 2 f) 4
g) 1
b) 4 h) 5
c) 3 i 3
d) -2 5 Points Each
e) -
a) 3
f) > b) V2
g) 7.5 c) 4/5
d) 2
h) 6 e) 2
i) 5 f) 10
j) 12
k) 3
) 18
m) 7

n) 3



6 Points Each
a) 6

b) 4

c) -3

d) 1.5

e) 2

f) 8

g) 4.5

h) -10



